

STATEWIDE-RWIS 25198 A003(059)

PROJECT: STATEWIDE-RWIS

**STATE PROJECT NUMBER**: 25198

FED. PROJECT NUMBER: A003(059)

**DATE BIDS OPEN:** June 18, 2020, 2:00

**SCOPE OF WORK:** To install Road and Weather systems around the State.

**COMPLETION DATE:** August 27, 2021

LOCATION:

Awarded To: NEW ENGLAND SIGNAL

SYSTEMS INC

616 FIRST NH TURNPIK NORTHWOOD, NH 03261-

0326

**Amount**: \$1,026,755.00

Certified by: PETER.E.STAMNAS

Director of Project Development

Award Date:

#### **Summary of Bidders**

Contractor	Bid Amount	Rank
NEW ENGLAND SIGNAL SYSTEMS INC 616 FIRST NH TURNPIK, PO BOX 326, NORTHWOOD NH 03261-0326	\$1,026,755.00	А
DAGLE ELECTRICAL CONSTRUCTION CORP 68 INDUSTRIAL WAY, WILMINGTON MA 01887	\$1,177,711.00	В
MOULISON LLC 10 IRON TRAIL ROAD, PO BOX 348, BIDDEFORD ME 04005-0348	\$1,194,167.00	С
EAST COAST SIGNALS, INC. 69 NORTH ROAD, DEERFIELD NH 03037	\$1,314,095.50	D
WESTON SOLUTIONS INC 43 N MAIN STREET, CONCORD NH 03301	\$1,737,600.00	E



STATEWIDE-RWIS 25198 A003(059)

				F	PS&E	616 FIRST	GIGNAL SYSTEMS INC NH TURNPIK D, NH 03261-0326	68 INDUS	CONSTRUCTION CORP STRIAL WAY ON, MA 01887
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total

#### **Items**

606.1254	BEAM GUARDRAIL (TERMINAL UNIT TYPE EAGRT, TL 3) (STEEL POST)	U	2.00	\$3,000.00	\$6,000.00	\$4,250.00	\$8,500.00	\$3,600.00	\$7,200.00
606.18001	31" W-BEAM GUARDRAIL WITH 8" OFFSET BLOCK (STEEL POST)	LF	75.00	\$27.50	\$2,062.50	\$35.00	\$2,625.00	\$35.00	\$2,625.00
606.91254	RESETTING TERMINAL UNIT (TYPE TL 3 EAGRT) (STEEL POST)	U	1.00	\$1,755.00	\$1,755.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00
614.331	3" STEEL CONDUIT	LF	95.00	\$38.00	\$3,610.00	\$12.00	\$1,140.00	\$20.00	\$1,900.00
614.523	MOLDED PULL BOX 17"X30"	EA	8.00	\$450.00	\$3,600.00	\$500.00	\$4,000.00	\$600.00	\$4,800.00
614.73114	3" PVC CONDUIT, SCHEDULE 40	LF	1,000.00	\$18.00	\$18,000.00	\$20.00	\$20,000.00	\$20.00	\$20,000.00
618.61	UNIFORMED OFFICERS WITH VEHICLE	\$	10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00
619.1	MAINTENANCE OF TRAFFIC	U	1.00	\$6,000.00	\$6,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00
621.2	RETROREFLECTIVE BEAM GUARDRAIL DELINEATOR	EA	2.00	\$5.00	\$10.00	\$7.50	\$15.00	\$10.00	\$20.00
621.31	SINGLE DELINEATOR WITH POST	EA	1.00	\$50.00	\$50.00	\$65.00	\$65.00	\$80.00	\$80.00
621.32	DOUBLE DELINEATOR WITH POST	EA	1.00	\$54.50	\$54.50	\$70.00	\$70.00	\$90.00	\$90.00
626.71	UTILITY POLE	EA	3.00	\$4,000.00	\$12,000.00	\$1,000.00	\$3,000.00	\$5,000.00	\$15,000.00
677.4201	ROADWAY WEATHER INFORMATION STATION (RWIS) SYSTEM	U	1.00	\$58,388.00	\$58,388.00	\$86,450.00	\$86,450.00	\$105,916.00	\$105,916.00
677.4202	ROADWAY WEATHER INFORMATION STATION (RWIS) SYSTEM	U	1.00	\$58,388.00	\$58,388.00	\$86,450.00	\$86,450.00	\$106,000.00	\$106,000.00
677.4203	ROADWAY WEATHER INFORMATION STATION (RWIS) SYSTEM	U	1.00	\$58,388.00	\$58,388.00	\$86,450.00	\$86,450.00	\$106,000.00	\$106,000.00
677.4204	ROADWAY WEATHER INFORMATION STATION (RWIS) SYSTEM	U	1.00	\$58,388.00	\$58,388.00	\$86,450.00	\$86,450.00	\$106,000.00	\$106,000.00
677.4205	ROADWAY WEATHER INFORMATION STATION (RWIS) SYSTEM	U	1.00	\$58,388.00	\$58,388.00	\$86,450.00	\$86,450.00	\$104,000.00	\$104,000.00
677.4206	ROADWAY WEATHER INFORMATION STATION (RWIS) SYSTEM	U	1.00	\$59,212.00	\$59,212.00	\$86,450.00	\$86,450.00	\$84,000.00	\$84,000.00
677.4207	ROADWAY WEATHER INFORMATION STATION (RWIS) SYSTEM	U	1.00	\$59,212.00	\$59,212.00	\$86,450.00	\$86,450.00	\$104,000.00	\$104,000.00
677.4208	ROADWAY WEATHER INFORMATION STATION (RWIS) SYSTEM	U	1.00	\$59,212.00	\$59,212.00	\$86,450.00	\$86,450.00	\$104,000.00	\$104,000.00
677.4209	ROADWAY WEATHER INFORMATION STATION (RWIS) SYSTEM	U	1.00	\$59,212.00	\$59,212.00	\$86,450.00	\$86,450.00	\$104,000.00	\$104,000.00
677.4210	ROADWAY WEATHER INFORMATION STATION (RWIS) SYSTEM	U	1.00	\$59,212.00	\$59,212.00	\$86,450.00	\$86,450.00	\$104,000.00	\$104,000.00
677.6301	METER AND DISCONNECT PEDESTAL	U	1.00	\$3,270.00	\$3,270.00	\$3,500.00	\$3,500.00	\$1,500.00	\$1,500.00



STATEWIDE-RWIS 25198 A003(059)

				PS&E		NEW ENGLAND SIGNAL SYSTEMS INC 616 FIRST NH TURNPIK NORTHWOOD, NH 03261-0326		DAGLE ELECTRICAL CONSTRUCTION COF 68 INDUSTRIAL WAY WILMINGTON, MA 01887	
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
677.6302	METER AND DISCONNECT PEDESTAL	U	1.00	\$3,270.00	\$3,270.00	\$3,500.00	\$3,500.00	\$1,500.00	\$1,500.00
677.6303	METER AND DISCONNECT PEDESTAL	U	1.00	\$3,270.00	\$3,270.00	\$3,500.00	\$3,500.00	\$1,500.00	\$1,500.00
677.6304	METER AND DISCONNECT PEDESTAL	U	1.00	\$3,270.00	\$3,270.00	\$3,500.00	\$3,500.00	\$1,500.00	\$1,500.00
677.63059	METER AND DISCONNECT PEDESTAL (MODIFY)	U	1.00	\$1,495.00	\$1,495.00	\$2,000.00	\$2,000.00	\$500.00	\$500.00
677.63069	METER AND DISCONNECT PEDESTAL (MODIFY)	U	1.00	\$1,495.00	\$1,495.00	\$2,000.00	\$2,000.00	\$500.00	\$500.00
677.63079	METER AND DISCONNECT PEDESTAL (MODIFY)	U	1.00	\$1,495.00	\$1,495.00	\$2,000.00	\$2,000.00	\$500.00	\$500.00
677.6308	METER AND DISCONNECT PEDESTAL	U	1.00	\$3,270.00	\$3,270.00	\$3,500.00	\$3,500.00	\$1,500.00	\$1,500.00
677.6309	METER AND DISCONNECT PEDESTAL	U	1.00	\$3,270.00	\$3,270.00	\$3,500.00	\$3,500.00	\$1,500.00	\$1,500.00
677.6310	METER AND DISCONNECT PEDESTAL	U	1.00	\$3,270.00	\$3,270.00	\$3,500.00	\$3,500.00	\$1,500.00	\$1,500.00
677.9404	4-CONDUCTOR #4 AWG CABLE	LF	300.00	\$28.00	\$8,400.00	\$5.00	\$1,500.00	\$4.00	\$1,200.00
677.9406	4-CONDUCTOR #6 AWG CABLE	LF	960.00	\$14.00	\$13,440.00	\$4.00	\$3,840.00	\$3.00	\$2,880.00
692.	MOBILIZATION	U	1.00	\$39,000.00	\$39,000.00	\$40,000.00	\$40,000.00	\$35,000.00	\$35,000.00
699.	MISCELLANEOUS TEMPORARY EROSION AND SEDIMENT CONTROL	\$	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00
1010.15	FUEL ADJUSTMENT	\$	10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00
			Totals:		\$754,357.00		\$1,026,755.00		\$1,177,711.00
			Alt. Totals:					T	

\$754,357.00

\$1,026,755.00

Tuesday, July 14, 2020

\$1,177,711.00



STATEWIDE-RWIS 25198 A003(059)

				ı	PS&E	10 IRON	ISON LLC TRAIL ROAD , ME 04005-0348	69 NO	F SIGNALS, INC. RTH ROAD .D, NH 03037
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total

#### **Items**

606.1254	BEAM GUARDRAIL (TERMINAL UNIT TYPE EAGRT, TL 3) (STEEL POST)	U	2.00	\$3,000.00	\$6,000.00	\$7,500.00	\$15,000.00	\$6,600.00	\$13,200.00
606.18001	31" W-BEAM GUARDRAIL WITH 8" OFFSET BLOCK (STEEL POST)	LF	75.00	\$27.50	\$2,062.50	\$40.00	\$3,000.00	\$53.00	\$3,975.00
606.91254	RESETTING TERMINAL UNIT (TYPE TL 3 EAGRT) (STEEL POST)	U	1.00	\$1,755.00	\$1,755.00	\$2,500.00	\$2,500.00	\$3,225.00	\$3,225.00
614.331	3" STEEL CONDUIT	LF	95.00	\$38.00	\$3,610.00	\$65.00	\$6,175.00	\$31.00	\$2,945.00
614.523	MOLDED PULL BOX 17"X30"	EA	8.00	\$450.00	\$3,600.00	\$1,500.00	\$12,000.00	\$475.00	\$3,800.00
614.73114	3" PVC CONDUIT, SCHEDULE 40	LF	1,000.00	\$18.00	\$18,000.00	\$25.00	\$25,000.00	\$23.00	\$23,000.00
618.61	UNIFORMED OFFICERS WITH VEHICLE	\$	10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00
619.1	MAINTENANCE OF TRAFFIC	U	1.00	\$6,000.00	\$6,000.00	\$8,000.00	\$8,000.00	\$57,000.00	\$57,000.00
621.2	RETROREFLECTIVE BEAM GUARDRAIL DELINEATOR	EA	2.00	\$5.00	\$10.00	\$6.00	\$12.00	\$5.25	\$10.50
621.31	SINGLE DELINEATOR WITH POST	EA	1.00	\$50.00	\$50.00	\$65.00	\$65.00	\$60.00	\$60.00
621.32	DOUBLE DELINEATOR WITH POST	EA	1.00	\$54.50	\$54.50	\$75.00	\$75.00	\$65.00	\$65.00
626.71	UTILITY POLE	EA	3.00	\$4,000.00	\$12,000.00	\$2,950.00	\$8,850.00	\$1,600.00	\$4,800.00
677.4201	ROADWAY WEATHER INFORMATION STATION (RWIS) SYSTEM	U	1.00	\$58,388.00	\$58,388.00	\$99,000.00	\$99,000.00	\$106,400.00	\$106,400.00
677.4202	ROADWAY WEATHER INFORMATION STATION (RWIS) SYSTEM	U	1.00	\$58,388.00	\$58,388.00	\$92,500.00	\$92,500.00	\$109,725.00	\$109,725.00
677.4203	ROADWAY WEATHER INFORMATION STATION (RWIS) SYSTEM	U	1.00	\$58,388.00	\$58,388.00	\$99,000.00	\$99,000.00	\$109,990.00	\$109,990.00
677.4204	ROADWAY WEATHER INFORMATION STATION (RWIS) SYSTEM	U	1.00	\$58,388.00	\$58,388.00	\$92,500.00	\$92,500.00	\$102,250.00	\$102,250.00
677.4205	ROADWAY WEATHER INFORMATION STATION (RWIS) SYSTEM	U	1.00	\$58,388.00	\$58,388.00	\$92,500.00	\$92,500.00	\$105,175.00	\$105,175.00
677.4206	ROADWAY WEATHER INFORMATION STATION (RWIS) SYSTEM	U	1.00	\$59,212.00	\$59,212.00	\$92,500.00	\$92,500.00	\$107,300.00	\$107,300.00
677.4207	ROADWAY WEATHER INFORMATION STATION (RWIS) SYSTEM	U	1.00	\$59,212.00	\$59,212.00	\$92,500.00	\$92,500.00	\$113,050.00	\$113,050.00
677.4208	ROADWAY WEATHER INFORMATION STATION (RWIS) SYSTEM	U	1.00	\$59,212.00	\$59,212.00	\$92,500.00	\$92,500.00	\$102,225.00	\$102,225.00
677.4209	ROADWAY WEATHER INFORMATION STATION (RWIS) SYSTEM	U	1.00	\$59,212.00	\$59,212.00	\$92,500.00	\$92,500.00	\$105,175.00	\$105,175.00
677.4210	ROADWAY WEATHER INFORMATION STATION (RWIS) SYSTEM	U	1.00	\$59,212.00	\$59,212.00	\$92,500.00	\$92,500.00	\$109,125.00	\$109,125.00
677.6301	METER AND DISCONNECT PEDESTAL	U	1.00	\$3,270.00	\$3,270.00	\$5,500.00	\$5,500.00	\$4,500.00	\$4,500.00



STATEWIDE-RWIS 25198 A003(059)

				PS&E		MOULISON LLC 10 IRON TRAIL ROAD BIDDEFORD, ME 04005-0348		EAST COAST SIGNALS, INC. 69 NORTH ROAD DEERFIELD, NH 03037	
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
677.6302	METER AND DISCONNECT PEDESTAL	U	1.00	\$3,270.00	\$3,270.00	\$5,000.00	\$5,000.00	\$4,500.00	\$4,500.00
677.6303	METER AND DISCONNECT PEDESTAL	U	1.00	\$3,270.00	\$3,270.00	\$5,500.00	\$5,500.00	\$4,500.00	\$4,500.00
677.6304	METER AND DISCONNECT PEDESTAL	U	1.00	\$3,270.00	\$3,270.00	\$5,000.00	\$5,000.00	\$4,500.00	\$4,500.00
677.63059	METER AND DISCONNECT PEDESTAL (MODIFY)	U	1.00	\$1,495.00	\$1,495.00	\$2,600.00	\$2,600.00	\$2,000.00	\$2,000.00
677.63069	METER AND DISCONNECT PEDESTAL (MODIFY)	U	1.00	\$1,495.00	\$1,495.00	\$2,600.00	\$2,600.00	\$2,000.00	\$2,000.00
677.63079	METER AND DISCONNECT PEDESTAL (MODIFY)	U	1.00	\$1,495.00	\$1,495.00	\$2,600.00	\$2,600.00	\$2,000.00	\$2,000.00
677.6308	METER AND DISCONNECT PEDESTAL	U	1.00	\$3,270.00	\$3,270.00	\$5,000.00	\$5,000.00	\$4,500.00	\$4,500.00
677.6309	METER AND DISCONNECT PEDESTAL	U	1.00	\$3,270.00	\$3,270.00	\$5,000.00	\$5,000.00	\$4,500.00	\$4,500.00
677.6310	METER AND DISCONNECT PEDESTAL	U	1.00	\$3,270.00	\$3,270.00	\$5,000.00	\$5,000.00	\$4,500.00	\$4,500.00
677.9404	4-CONDUCTOR #4 AWG CABLE	LF	300.00	\$28.00	\$8,400.00	\$5.50	\$1,650.00	\$6.00	\$1,800.00
677.9406	4-CONDUCTOR #6 AWG CABLE	LF	960.00	\$14.00	\$13,440.00	\$5.25	\$5,040.00	\$5.00	\$4,800.00
692.	MOBILIZATION	U	1.00	\$39,000.00	\$39,000.00	\$100,000.00	\$100,000.00	\$62,500.00	\$62,500.00
699.	MISCELLANEOUS TEMPORARY EROSION AND SEDIMENT CONTROL	\$	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00
1010.15	FUEL ADJUSTMENT	\$	10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00
			Totals:		\$754,357.00		\$1,194,167.00		\$1,314,095.50
			Alt. Totals:						

Totals:	\$754,357.00	\$1,194,167.00	\$1,314,095.50
lt. Totals:			
Totals:	\$754,357.00	\$1,194,167.00	\$1,314,095.50



STATEWIDE-RWIS 25198 A003(059)

				F	°S&E	43 N MA	OLUTIONS INC MIN STREET RD, NH 03301		
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total

#### **Items**

		1						_
606.1254	BEAM GUARDRAIL (TERMINAL UNIT TYPE EAGRT, TL 3) (STEEL POST)	U	2.00	\$3,000.00	\$6,000.00	\$5,684.00	\$11,368.00	
606.18001	31" W-BEAM GUARDRAIL WITH 8" OFFSET BLOCK (STEEL POST)	LF	75.00	\$27.50	\$2,062.50	\$50.00	\$3,750.00	
606.91254	RESETTING TERMINAL UNIT (TYPE TL 3 EAGRT) (STEEL POST)	U	1.00	\$1,755.00	\$1,755.00	\$4,200.00	\$4,200.00	
614.331	3" STEEL CONDUIT	LF	95.00	\$38.00	\$3,610.00	\$24.00	\$2,280.00	
614.523	MOLDED PULL BOX 17"X30"	EA	8.00	\$450.00	\$3,600.00	\$2,875.00	\$23,000.00	
614.73114	3" PVC CONDUIT, SCHEDULE 40	LF	1,000.00	\$18.00	\$18,000.00	\$12.00	\$12,000.00	
618.61	UNIFORMED OFFICERS WITH VEHICLE	\$	10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00	
619.1	MAINTENANCE OF TRAFFIC	U	1.00	\$6,000.00	\$6,000.00	\$102,770.00	\$102,770.00	
621.2	RETROREFLECTIVE BEAM GUARDRAIL DELINEATOR	EA	2.00	\$5.00	\$10.00	\$12.00	\$24.00	
621.31	SINGLE DELINEATOR WITH POST	EA	1.00	\$50.00	\$50.00	\$58.00	\$58.00	
621.32	DOUBLE DELINEATOR WITH POST	EA	1.00	\$54.50	\$54.50	\$60.00	\$60.00	
626.71	UTILITY POLE	EA	3.00	\$4,000.00	\$12,000.00	\$6,900.00	\$20,700.00	
677.4201	ROADWAY WEATHER INFORMATION STATION (RWIS) SYSTEM	U	1.00	\$58,388.00	\$58,388.00	\$111,400.00	\$111,400.00	
677.4202	ROADWAY WEATHER INFORMATION STATION (RWIS) SYSTEM	U	1.00	\$58,388.00	\$58,388.00	\$111,400.00	\$111,400.00	
677.4203	ROADWAY WEATHER INFORMATION STATION (RWIS) SYSTEM	U	1.00	\$58,388.00	\$58,388.00	\$111,400.00	\$111,400.00	
677.4204	ROADWAY WEATHER INFORMATION STATION (RWIS) SYSTEM	U	1.00	\$58,388.00	\$58,388.00	\$111,400.00	\$111,400.00	
677.4205	ROADWAY WEATHER INFORMATION STATION (RWIS) SYSTEM	U	1.00	\$58,388.00	\$58,388.00	\$111,400.00	\$111,400.00	
677.4206	ROADWAY WEATHER INFORMATION STATION (RWIS) SYSTEM	U	1.00	\$59,212.00	\$59,212.00	\$111,400.00	\$111,400.00	
677.4207	ROADWAY WEATHER INFORMATION STATION (RWIS) SYSTEM	U	1.00	\$59,212.00	\$59,212.00	\$111,400.00	\$111,400.00	
677.4208	ROADWAY WEATHER INFORMATION STATION (RWIS) SYSTEM	U	1.00	\$59,212.00	\$59,212.00	\$111,400.00	\$111,400.00	
677.4209	ROADWAY WEATHER INFORMATION STATION (RWIS) SYSTEM	U	1.00	\$59,212.00	\$59,212.00	\$111,400.00	\$111,400.00	
677.4210	ROADWAY WEATHER INFORMATION STATION (RWIS) SYSTEM	U	1.00	\$59,212.00	\$59,212.00	\$111,400.00	\$111,400.00	
677.6301	METER AND DISCONNECT PEDESTAL	U	1.00	\$3,270.00	\$3,270.00	\$6,325.00	\$6,325.00	

# New Hampshive Department of Transportation

#### **ABC Bid Data**

STATEWIDE-RWIS 25198 A003(059)

				PS&E		WESTON SOLUTIONS INC 43 N MAIN STREET CONCORD, NH 03301			
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
677.6302	METER AND DISCONNECT PEDESTAL	U	1.00	\$3,270.00	\$3,270.00	\$6,325.00	\$6,325.00		
677.6303	METER AND DISCONNECT PEDESTAL	U	1.00	\$3,270.00	\$3,270.00	\$6,325.00	\$6,325.00		
677.6304	METER AND DISCONNECT PEDESTAL	U	1.00	\$3,270.00	\$3,270.00	\$6,325.00	\$6,325.00		
677.63059	METER AND DISCONNECT PEDESTAL (MODIFY)	U	1.00	\$1,495.00	\$1,495.00	\$6,325.00	\$6,325.00		
677.63069	METER AND DISCONNECT PEDESTAL (MODIFY)	U	1.00	\$1,495.00	\$1,495.00	\$6,325.00	\$6,325.00		
677.63079	METER AND DISCONNECT PEDESTAL (MODIFY)	U	1.00	\$1,495.00	\$1,495.00	\$6,325.00	\$6,325.00		
677.6308	METER AND DISCONNECT PEDESTAL	U	1.00	\$3,270.00	\$3,270.00	\$6,325.00	\$6,325.00		
677.6309	METER AND DISCONNECT PEDESTAL	U	1.00	\$3,270.00	\$3,270.00	\$6,325.00	\$6,325.00		
677.6310	METER AND DISCONNECT PEDESTAL	U	1.00	\$3,270.00	\$3,270.00	\$6,325.00	\$6,325.00		
677.9404	4-CONDUCTOR #4 AWG CABLE	LF	300.00	\$28.00	\$8,400.00	\$34.00	\$10,200.00		
677.9406	4-CONDUCTOR #6 AWG CABLE	LF	960.00	\$14.00	\$13,440.00	\$29.00	\$27,840.00		
692.	MOBILIZATION	U	1.00	\$39,000.00	\$39,000.00	\$317,100.00	\$317,100.00		
699.	MISCELLANEOUS TEMPORARY EROSION AND SEDIMENT CONTROL	\$	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00		
1010.15	FUEL ADJUSTMENT	\$	10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00		
·			Totals:		\$754,357.00		\$1,737,600.00		
			Alt. Totals:						

\$754,357.00

\$1,737,600.00



# **PS&E Comparison**

STATEWIDE-RWIS 25198 A003(059)

				A-Bide	der	PS	ßЕ	
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference
Items								
606.1254	BEAM GUARDRAIL (TERMINAL UNIT TYPE EAGRT, TL 3) (STEEL POST)	U	2.00	\$4,250.00	\$8,500.00	\$3,000.00	\$6,000.00	\$2,500.00
606.18001	31" W-BEAM GUARDRAIL WITH 8" OFFSET BLOCK (STEEL POST)	LF	75.00	\$35.00	\$2,625.00	\$27.50	\$2,062.50	\$562.50
606.91254	RESETTING TERMINAL UNIT (TYPE TL 3 EAGRT) (STEEL POST)	U	1.00	\$2,000.00	\$2,000.00	\$1,755.00	\$1,755.00	\$245.00
614.331	3" STEEL CONDUIT	LF	95.00	\$12.00	\$1,140.00	\$38.00	\$3,610.00	(\$2,470.00)
614.523	MOLDED PULL BOX 17"X30"	EA	8.00	\$500.00	\$4,000.00	\$450.00	\$3,600.00	\$400.00
614.73114	3" PVC CONDUIT, SCHEDULE 40	LF	1,000.00	\$20.00	\$20,000.00	\$18.00	\$18,000.00	\$2,000.00
618.61	UNIFORMED OFFICERS WITH VEHICLE	\$	10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00	\$0.00
619.1	MAINTENANCE OF TRAFFIC	U	1.00	\$20,000.00	\$20,000.00	\$6,000.00	\$6,000.00	\$14,000.00
621.2	RETROREFLECTIVE BEAM GUARDRAIL DELINEATOR	EA	2.00	\$7.50	\$15.00	\$5.00	\$10.00	\$5.00
621.31	SINGLE DELINEATOR WITH POST	EA	1.00	\$65.00	\$65.00	\$50.00	\$50.00	\$15.00
621.32	DOUBLE DELINEATOR WITH POST	EA	1.00	\$70.00	\$70.00	\$54.50	\$54.50	\$15.50
626.71	UTILITY POLE	EA	3.00	\$1,000.00	\$3,000.00	\$4,000.00	\$12,000.00	(\$9,000.00)
677.4201	ROADWAY WEATHER INFORMATION STATION (RWIS) SYSTEM	U	1.00	\$86,450.00	\$86,450.00	\$58,388.00	\$58,388.00	\$28,062.00

Tuesday, July 14, 2020 Page 8 of 10



# **PS&E Comparison**

STATEWIDE-RWIS 25198 A003(059)

Item No.	Description	Unit	Quantity	A-Bidder		PS&E		
				Unit Price	Total	Unit Price	Total	A-PS&E Difference
677.4202	ROADWAY WEATHER INFORMATION STATION (RWIS) SYSTEM	U	1.00	\$86,450.00	\$86,450.00	\$58,388.00	\$58,388.00	\$28,062.00
677.4203	ROADWAY WEATHER INFORMATION STATION (RWIS) SYSTEM		1.00	\$86,450.00	\$86,450.00	\$58,388.00	\$58,388.00	\$28,062.00
677.4204	ROADWAY WEATHER INFORMATION STATION (RWIS) SYSTEM	Ĭ	1.00	\$86,450.00	\$86,450.00	\$58,388.00	\$58,388.00	\$28,062.00
677.4205	ROADWAY WEATHER INFORMATION STATION (RWIS) SYSTEM		1.00	\$86,450.00	\$86,450.00	\$58,388.00	\$58,388.00	\$28,062.00
677.4206	ROADWAY WEATHER INFORMATION STATION (RWIS) SYSTEM		1.00	\$86,450.00	\$86,450.00	\$59,212.00	\$59,212.00	\$27,238.00
677.4207	ROADWAY WEATHER INFORMATION STATION (RWIS) SYSTEM		1.00	\$86,450.00	\$86,450.00	\$59,212.00	\$59,212.00	\$27,238.00
677.4208	ROADWAY WEATHER INFORMATION STATION (RWIS) SYSTEM		1.00	\$86,450.00	\$86,450.00	\$59,212.00	\$59,212.00	\$27,238.00
677.4209	ROADWAY WEATHER INFORMATION STATION (RWIS) SYSTEM		1.00	\$86,450.00	\$86,450.00	\$59,212.00	\$59,212.00	\$27,238.00
677.4210	ROADWAY WEATHER INFORMATION STATION (RWIS) SYSTEM	U	1.00	\$86,450.00	\$86,450.00	\$59,212.00	\$59,212.00	\$27,238.00
677.6301	METER AND DISCONNECT PEDESTAL	U	1.00	\$3,500.00	\$3,500.00	\$3,270.00	\$3,270.00	\$230.00
677.6302	METER AND DISCONNECT PEDESTAL	U	1.00	\$3,500.00	\$3,500.00	\$3,270.00	\$3,270.00	\$230.00
677.6303	METER AND DISCONNECT PEDESTAL	U	1.00	\$3,500.00	\$3,500.00	\$3,270.00	\$3,270.00	\$230.00
677.6304	METER AND DISCONNECT PEDESTAL	U	1.00	\$3,500.00	\$3,500.00	\$3,270.00	\$3,270.00	\$230.00
677.63059	METER AND DISCONNECT PEDESTAL (MODIFY)	U	1.00	\$2,000.00	\$2,000.00	\$1,495.00	\$1,495.00	\$505.00

Tuesday, July 14, 2020 Page 9 of 10



## **PS&E Comparison**

STATEWIDE-RWIS 25198 A003(059)

Item No.	Description		Quantity	A-Bidder		PS&E		
		Unit		Unit Price	Total	Unit Price	Total	A-PS&E Differenc
677.63069	METER AND DISCONNECT PEDESTAL (MODIFY)	U	1.00	\$2,000.00	\$2,000.00	\$1,495.00	\$1,495.00	\$505.00
677.63079	METER AND DISCONNECT PEDESTAL (MODIFY)	U	1.00	\$2,000.00	\$2,000.00	\$1,495.00	\$1,495.00	\$505.00
677.6308	METER AND DISCONNECT PEDESTAL	U	1.00	\$3,500.00	\$3,500.00	\$3,270.00	\$3,270.00	\$230.00
677.6309	METER AND DISCONNECT PEDESTAL	U	1.00	\$3,500.00	\$3,500.00	\$3,270.00	\$3,270.00	\$230.00
677.6310	METER AND DISCONNECT PEDESTAL	U	1.00	\$3,500.00	\$3,500.00	\$3,270.00	\$3,270.00	\$230.00
677.9404	4-CONDUCTOR #4 AWG CABLE	LF	300.00	\$5.00	\$1,500.00	\$28.00	\$8,400.00	(\$6,900.00)
677.9406	4-CONDUCTOR #6 AWG CABLE	LF	960.00	\$4.00	\$3,840.00	\$14.00	\$13,440.00	(\$9,600.00)
692.	MOBILIZATION	U	1.00	\$40,000.00	\$40,000.00	\$39,000.00	\$39,000.00	\$1,000.00
699.	MISCELLANEOUS TEMPORARY EROSION AND SEDIMENT CONTROL	\$	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$0.00
1010.15	FUEL ADJUSTMENT	\$	10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00	\$0.00

**Total:** \$1,026,755.00 \$754,357.00 \$272,398.00

Tuesday, July 14, 2020 Page 10 of 10